Lines And Angles

&I JATUROMY AR YR (Main concepts and result > @Y ST b &1 V&1 & TR BRI & IRER
> A U@ faRer U v R @S 8L Al S UBR |HGR Bl 2 |
9 SF PIVT BT AFT 180°BIAT & 3R fIatme: Lines which are parallel to a given line are parallel
afg 7 A~ B BT ANT 180°8, AT S to each other.
STIHYTS YOIy U @ F91CH! & | 39 O BT > T Sl & A0 PION &1 IRT 180°8TaT 2 |
AT RIB gy 3 TR Phed B | The sum of the three angles of a triangle is 180°.
If a ray stands on a line, then the sum qf the two > i fey %T‘j,\_ff ) vE ST BT g SMC, Al
adjacent angles so formed is 180 °and vice-versa. NN s . .
This property is known as the linear pair axiom. N -H:;;;l?;}sllsbcbl l‘a'ﬁ?ﬂ N TSI ST
o . BIU ENERS
> AR [ @ WRER Ui B, d i |
P RR BT § | If a side of a trigngle is produced, the exterior
angle so formed is equal to the sum of the two
If two lines intersect each other, then the vertically opposite interior angles.
opposite angles are equal. Multiple Choice Questi
) . ultiple Choice Questions
> uﬁwgﬁ;%@ﬁwﬁwﬁaﬁ (ssRieeda ye=)
gfo=8T =,
() |G PO BN YD T SRIER BT T | 1. @ gaﬁ_aﬁ S b X PE Cin
. S : a.  YEES ) fop=oT
(i)  UBIaN 3 DI BT TdD gﬂ? le'eN BT & | R S i TRESE Yt
(iii)  ford .QEH @ T SR FADION BT YD A line joining two points is called:-
g ARD BT 2 | a.  Line segment b. Ray
If a transversal intersects two parallel lines, then c.  Parallel lines _ d. Intersecting lines
(i)  Each pair of corresponding angles is equal. 2. U YASIV BT B
0 e:r@—cﬁ 0
(i)  Each pair of alternate interior angles is equal. a. 909 b. 90° 3
0 0
(iii)  Each pair of interior angles on the same side c. 90 - d. 180
of the transversal is supplementary. An acute angle is :-
a.  More than 90° b. Less than 90°
>  Ife o fode @ 1 @RI 59 YPKR c. 90° d. 180°
gfoess o f& ar ar 3. s yuf Hlvr gar &
) ) i 0 0
(i)  TPIAR 3fd: BV HT B P I &R 8 AT c. 180 . d. 360
' . A complete angle is :-
(iii) {0 YT & TF & SN S PO BT P a. Morethan 180° b.  Less than 180°
T RS B, Al Y M @ FHR B 7 c. 180 d  360°
If a transversal intersects two lines such that, 4. gfcradt ®ror grar &
either a. 180" 37f¥eb 360°H HH
(i)  any one pair of corresponding angles is equal, b.  90°% 3ffSr 180° ¥ BH
or c. 0" 31f¥rp 90° W PH
(i) any one pair of alternate interior angles is d. 09 f® 900 HH
equal, or A reflex angle is :-
(i) any one pair of interior angles on the same a.  More than 180° but less than 360°
side of the transversal is supplementary, then b.  More than 90° but less than 180°
the lines are parallel. c.  More than 0° but less than 90°
d.  More than 0° but less than 180°
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5.  U® O¥d BIvT Bdl 28—
a.  180°9 3ffd® b. 180
c. 90°H HH d. 900
A straight angle is equal to :-
a.  More than 180°  b. 180°
c.  Less than 90° d. 90°
6. T IAfSrd HIUT Bidl 2 —
a. 180" 3Hf&® 360° W HH
b 90° 3HfA® 180° W &H
c. 0°¥ f¥d 90° W A
d.  0°9 % 180 HH
An obtuse angle is :-
a.  More than 180° but less than 360°
b.  More than 90° but less than 180°
c.  More than 0° but less than 90°
d.  More than 0° but less than 180°
7. 98 SIS 90° | Afs d=m 180°W HH B,
FHEdrdl B
a. 3if9® Bror b. AHBIOT
. ufEdiem 4 gl e
The angle which is greater than 90° and less
than 180° is called:-
a.  Obtuse angle b. Right angle
c.  Reflex angle d. Complete angle
8. 98 IV Wl 09 3f¥d qAgT 90°" HA B,
FHEdrdl B
a. gq DI b.  HADIU
c.  afE P d o e
The angle which is greater than 0° and less than
90" is called:-
a.  Acute angle b. Right angle
c.  Obtuse angle d. Complete angle
9. 98 HIVT Wl 180° W 3fe d=11 360°H & B,
FHEdTdl B
a. = E b, ufEd ®
c.  afE P 4 oo e
The angle which is greater than 180° and less
than 360° is called:-
a.  Acute angle b. Reflex angle
c.  Obtuse angle d. Complete angle
10. < HI7 ST AT 180° & SRTER BIaT 2,
PEd B—
a. ONIMHE dOT b, T DI
c.  3TH~ BI d RS DI
Two angles whose sum is equal to 180° are called:-
a.  Vertically Opposite angle
b.  Complementary angles
c.  Adjacent angles
HEIT-9 (TFUTA)

11.

12.

13.

14.

15.

16.

17.

18.

d.  Supplementary angles

20°®T YR BIVT B

a.  90° b. 70°
c. 160° d. 180°
Complementary angle of 20" is:-

a.  90° b. 70°
c. 160° d. 180°

3 Hivr a1 AT 90' & aRIER BT T,
PHEATd B—

a. OIWIRET dIoT b, R BV

c. 3™ BIU d  AR® B
Two angles whose sum is equal to 90° are
called:-

a.  Vertically oposite angles

b.  Complementary angles

c.  Adjacent angles

d.  Supplementary angles.

45° BT Y& HIT B:—

a. 135° b. 45°
c. 85° d. 90°
Complementary angle of 45° is:-
a. 135° b. 45°
c. 85° d. 90°
55° BT Y& BHIVT ©:—

a. 35° b. 180°
c. 125° d. 90°
Complementary angle of 55° is:-
a. 35° b. 180°
c. 125° d. 90°
24° BT [RP HIVT :—

a. 64° b. 90°
c. 66° d. 56°
Complementary angle of 24° is:-
a. 64° b. 90°
c. 66° d. 56°
42° BT YRPb BT &:—

a. 52° b. 48°
c. 58° d. 38°
Complementary angle of 42° is:-
a. 52° b. 48°
c. 58° d. 38°
18° &1 YR& PIVT 2:—

a. 72° b. 62°
c. 78° d. 68°
Complementary angle of 18° is:-
a. 72° b. 62°
c. 78° d. 68°
33° BT YR HIVT o:—

a. 37° b. 47°
c. 53¢ d. 57°

Complementary angle of 33° is:-




a. 37° b 47° 26. AfX0°<x<90°%, Al x B
c. 33° d 57 a.  oI® BIT b.  HADI
19.  20° BT YRS BIVT B:— c. = P d ool @
a. ?ggo '(31~ Zg;o If 0°< x < 90°, then, x will be :-
c. - a.  Obtuse angle b. Right angle
Supplementary angle of 20° is:-
pp 90° yang b ‘700 c.  Acute angle d. Complete angle
- . ‘ . 27.  afX 90°<y<180° B, @l y wII—
c. 160 d. 180 o
20.  64° BT YD BT B a. o b WD
a. 26° b. 36° C. q Eﬁ_UT d. IBER W
c. 126° d. 116° If 90°< y< 180°, then, y wil be :-.
Supplementary angle of 64° is:- a.  Complete angle b. Right angle
a  26° b. 36° c.  Acute angle d. Obtuse angle
c. 126° d  116° 28. T 180°<z<360° =, dl z BIT:—
21, 120° BT GYRS HIVT B:— a.  SfErd BT b.  AHBIU
a.  60° b.  70° c.  wferad dror d. ol B
c. 50° d. 90° If 180°< z < 360°, then, y will be :-
Supplementary angle of 120° is:- a. Obtuse angle b. Right angle
a.  60° b. 70° c.  Reflex angle d. Complete angle
c. 50° d. 90° 29. TP g @& AR’ R @& @il S &1 A
22, 45° BT GYRD PIVT &:— T -
a. 90° b. 45° a. 9(° b. 180°
C. 135° d. 125° C. 0° d. 360°
Supplen:entary angle of 457 is:- . The sum of all angle around a point is:-
a. 90 b. 45 a. 9(° b. 180°
C. 135° d. 125° C. 0° d. 360°
23, 48° BT HIXS PIT 2 30. B9 BIVT S 49 @1 BT Sl U R &
a. 52° b. 132° T B
c. 42° d. 142° a 60°' b 30°
Supplementary angle of 48° is:- c: 450 d: 90°
a- 520 b. 1320 The measure of an angle which is equal to its
c. 42 d. 142
) complement?
24.  70° BT YRS HIVT ©:— a 60° b, 30°
a. 110° b. 20° C. 45° d. 9(°
c. 120° d. 180° <
o 31. < REN P g $i fhad fag w afa=ss
Supplementary angle of 70° is:- )
a 110° b. 20° .
.  120° d 180° a.  TH g b. @ fag
25. fy <t ®ivf @ ya M swafrs 8, e c. o fag d T PE T
Sl IYafrss 8 dur sewalTs .,1\—,“&; ;&tth :::V many points two lines intersect each
Swafe Jar & faudia sk Rera =8, a1 4@ ’ . .
N . a. One point. b. Two points.
T HEed © - c.  Three points. d. None of these.
a.  dwifgE e b RE B 32. <1 GHIR Y@V U gER &1 fba famg w
c. 3~ Bl d.  AYR® BIU yfrege sl 2
If two angles have a common vertex, a
common arm and their non-common arm lies & _E;CZ ﬁi b a ﬁ%
on different sides of common arm , then those c. ﬁ% . d. 0 L
angles are known as:- At how ma;ly points two parallel lines intersect
a.  Vertically opposite angles each other? . .
b.  Complementary angles a. One pom.t. b. Two points.
c.  Adjacent angles. c.  Three points. d. Null_
d.  Supplementary angles 33, te el Y@ w Ql ama eI &t srgard
THET-9 (0T ==




5:42, @ BIC BT BT A T:—

a. 60° b. 80°

c. 40° d. 50°

Two adjacent angles on a straight line are in
the ratio of 5:4 , then measure of smaller angle
is:-

a.  60° b. 80°
c. 40° d. 50°

34. 99U BV B WG RT 8, S\ AUA RSP DI
@ 3mE 9 30° AfH BI?
a. 30° b. 40°
c. 60° d. 50°
What is the measure of an angle, which is more
than half of its complementary angle by 30°?
a. 30° b. 40°
c. 60° d. 50°

35. 99 HIVT P AU T &, Sl U YD HIT
P ITET BI7?
a.  90° b. 180°
c. 60° d. 120°
What is the measure of an angle, which is half
of its supplementary angle?
a.  90° b. 180°
c. 60° d. 120°

36. S9 PIVT I WG T B, Sl U GRS D
R 81?7
a. 180° b. 80°
c. 90° d. 45°
What is the measure of an angle, which is equal
to its supplementary angle?
a. 180° b. 80°
c. 90° d. 45°

37. 99 HIVT I AU T &, Sl U+ YD HIT
®1 1 [T BN
a. 45° b. 105°
c. 125° d. 135°
What is the measure of an angle, which is three
times of its supplementary angle?
a. 45° b. 105°
c. 125° d. 135°

38. Y HIV P AU T &, Sl U+ YD HIT
| 30° Ifd® BI?
a. 150° b. 105°
c. 75° d. 30°
What is the measure of an angle, which is 30°
more than its supplementary angle?
a. 150° b. 105°
c. 75° d. 30°

39. 9 DIV B AU T =, Sl AU YD DI
@ 3mE ¥ 15° fde 8l?
a. 50° b. 135°
c. 65° d. 70°

HEIT-9 (TFUTA)

40.

41.

42.

43.

44.

45.

What is the measure of an angle, which is more
than half of its supplementary angle by 15°?

a. 50° b. 135°

c. 65° d. 70°

SIVT B AU T 2, Sl U RS HIVT B
e | 30° $A BI?

a. 150° b. 40°

c. 70° d. 165°

What is the measure of an angle, which is less
than half of its supplementary angle by 30°?

a. 150° b. 40°

c. 70° d. 165°

I HIVT BT AT FT 2, Sl (U YRS I
q 60° HH BI?

a.  90° b. 60°

c. 30° d. 45°

What is the measure of an angle, which is 60°
less than its supplementary angle?

a.  90° b. 60°

c. 30° d. 45°

I HIVT B AU FAT 2, Sl U YRS I
®I &1 IAT 817

a. 30° b. 60°

c. 120° d. 90°

What is the measure of an angle which is two
times of its supplementary angle?

a. 30° b. 60°

c. 120° d. 90°

IH BIVT B A9 FT 2, S AU YR HIT
| 10° A 81?2

a. 50° b. 40°

c. 80° d. 100°

What is the measure of an angle which is 10°
more than its complementary angle?

a. 50° b. 40°

c. 80° d. 100°

IH BIVT DI A9 FT 2, S AU YR DI
q 6° HH BI?

a. 58° b. 42°

c. 80° d. 40°

What is the measure of an angle which is 6° less
than its complementary angle?

a. 58° b. 42°

c. 80° d. 40°

IH BIVT DI A9 FT 2, S AU YR HIT

@ 3 W 150 AP BI?

a. 40° b. 50°

c. 65° d. 75°

What is the measure of an angle, which is more
than half of its complementary angle by 15°?
a. 40° b. 50°

c. 65° d. 75°




46. U BIVT B AU FT B, Wl AUA YRH DI
@ 3 | 3° HH BI?
a. 62° b. 28°
c. 31° d. 87°
What is the measure of an angle, which is less
than half of its complementary angle by 3°?
a. 62° b. 28°
c. 31° d. 87°
47. <1 1 =g SN $T (AR a1 8—
a. I POy b. FHBTOT
. =@ 4 e e
Difference of two distinct acute angle is :-
a.  Obtuse angle b. Right angle
c.  Acute angle. d. Complete angle. 51
48. <1 =1 Aftres S &1 ATHA FaT 8- '
a.  of®H HIT b. =T BIT
. e ew 4 g e
Sum of two distinct obtuse angle is :-
a.  Obtuse angle b. Right angle
c.  Reflex angle. d. Complete angle.
49. apfa #, afs AOB t& w3 @ B, al x
$T HIF HIT—
C
X
50°
A 0 B
a. 40° b. 130°
c. 90° d. 180°
In the figure, if AOB is a straight line, then the
value of x will be:
C
52.
X
50°
: g i
a. 40° b. 130°
c. 90° d. 180°
50. anpfa A, afe AOB Us Oxd @ &1, 4l x
$T A SHMT—
C
2x
80°
A 0 B
HE(T-9 (TfOTe)

a. 100° b. 10°

c. 50° d. 5°

In the figure, if AOB is a straight line, then the
value of x will be:-

C
2x
80°
A 0 B
a. 100° b. 10°
c. 50° d. 5°

amafa #, IfE PQR U@ 6l @ &1, dl x
ST 419 BIIT—

S

42°

) Q R
a. 98° b. 128°
c. 138° d. 118°

In the figure, if PQR is a straight line, then the
value of x will be:-

S

R X
42

) Q r
a. 98° b. 128°
c. 138° d. 118°

arpfa ¥, afs PQR U OXa X4 B, dl y
BT A9 &I~

T

a. 80° b. 10°

c. 100° d. 110°

In the figure, if PQR is a straight line, then the
value of y will be:-




55.
R
a. 80° b. 10°
c. 100° d. 110°
53. smgfa #, Afe AOB Ua 63 ™7 &I, dl x
$T HIF HIT—
¢
D
X
T 2X T
A 0 B
a. 90° b. 20°
c. 30° d. 60°
In the figure, if AOB is a straight line, then the
value of x will be:-
¢
D
X
T 2x T
A 0 B
a.  90° b. 20° 56.
c. 30° d. 60°
54. dfa #, IfT PQR ¢S Wxal ™I &I, dl x
$T A HMT—
S
5x
X
P Q R
a. 80° b. 30°
C. 150° d. 180°

In the figure, if PQR is a straight line, then the
value of x will be:

S
5x
X
P Q R

HET-9 aTfoTe

a. 80° b. 30°
c. 150° d. 180°

ampfa ¥, afd PQR Us axel ¥@r &, al x
BT {9 BIIT—

S
+ o
x +30 2%
Q R

P

a.  90° b. 150°
c. 50° d. 80°

In the figure, if PQR is a straight line, then the
value of x will be:-

S
+ o
x+ 30 %
Q R

P

a.  90° b.  150°

c. 50° d  80°

anefa #, afs PQR U & Y@ B, al y

BT |9 BHIT—

S
T
2y
y y
P Q R

a.  90° b. 45°
c. 30° d. 60°

In the figure, if PQR is a straight line, then the
value of y will be:-

S
T
2y
y y
P Q R

a.  90° b. 45°




c. 30° d  60°
arpfa dH, AfE AOB U uxel @ &I, dl x

57.
ST A9 BIIT—
D C
110°
X X
A 0 B
a. 35° b. 45°
c. 70° d. 20°
In the figure, if AOB is a straight line, then the
value of x will be:-
D C
110°
X X
A 0 B
a. 35° b. 45°
c. 70° d. 20°
58. Sn@fa H, afe AOB U& 6Xal ¥&@T &, dI x
®T HIF EHIT—
B
a. 70° b. 160°
c. 140° d. 80°
In the figure, if AOB is a straight line, then the
value of x will be:-
B
a. 70° b 160°
c. 140° d. 80°
HE(T-9 (TfOTe)

59.

60.

Arpfa d, Y@ AB a1 CD fag 0 w®
gfae8s &xdl 2 | afe £ AOC+ £ BOE=70°
8l, @ £ COE &I |11 87—

C\/
X 9] \ B
D
90° b 110°

a.
c. 70° d. 20°

In the figure, lines AB and CD intersect each
other at point O. If £ AOC+ZBOE=70° then,
the value of £ COE will be:-

c /
O BI

X

D
a.  90° b, 110°
c. 70° . 20°

arpfa #, @ XY dam MN fag 0 «®
yfoesT sl & | Ife L POY=90° TAT a:b
=2:38l, dl ¢ & "9 8NIT—

P

a. 18° b. 36°
c. 54° d. 126°
In the figure, lines AB and CD intersect

each other at point O. If ZPOY=90° and
a:b=2:3,then the value of ¢ will be:-




61. afg ] ATG= ST BT AT 100° 2| AfT c. 130° d. 30°
ST W TP DIV BT A 28° ©, A TR 64, AR 3 @ wH g B AR Bl D,
DIV BT A9 BT - @ NuffrpE Hior g §—
a. 62° b. 72°
a ENEN
c. 152° d. 32°
If the sum of two adjacent angles is 100°. If the b
1 o g : c IIRT 81 fhar S Hehd
value of one of them is 28°, then the value of the ,
other angle will be:- d T W P
a. 62° b. 72° If two lines intersect each other, then the
c. 152° d. 32° vertically opposite angles are:-
62. 3Mdpfa F X@W AB @1 CD fig 0 W i‘ 5‘111‘;:1 "
. . u
gfdese &l 2 | afe LAOC: ZBOC=2:3 . Cannot be determined
&1, dl £ BOD &1 A9 &I~ d.  None of the above.
¢ ? 65. M fay g o A, fr=ifeRaa & @ s
I HIoT I B?
(6)
A D
a.  90° b. 36° A B
c. 72° d. 108°
In the figure, lines AB and CD intersect each
other at point O. If ZAOC : ZBOC=2:3 then.
the value of ZBOD will be:- CI ]5
C B
© a. ZpdR ZLq b,  Zp3R ZLw
c. Zp3R Lx d  Zp3iR 4z
A D
o o In the figure below, which of the following are
a. 90 b. 36 . .
pairs of corresponding angle?
c. 72° d. 108°
63. IMHfa A x BT A 3:—
A o I :
\ B A B
a. 60° b. 50° | :
c. 130° d. 30° C D
The value of x in the figure is:-
A - B' a. Zpand Zq b. Zpand Zw
. . c. Zpand £x d. Zpand Lz
C bs) D . .
1307 66. M R ¢ R A, RreaiferRad ¥ @ Bt
a.  60° b, 50° UBHIdR IAdl: DIV I &7
HE(T-9 (TfOT) —




68. 3Ppfa A, ATAB || CDBI, Al x ST 719 SHIT:—
A ]é A X B
: = C Y{f D
C D
a 130° b. 50°
c 40° d. 70°
a. Zp3R Lw b. Zp3R 2Lz
c. /rdR Zs d /s3R /x In the figure, AB || CD then value of x will be :-
In the figure below, which of the following are \
a pair of alternate interior angles? ; .
A X B
+ £ ¢ R0 B
a.  130° b. 50°
c. 40° d. 70°
C D .
69. 3nmafa #, afe AB||CD &I, al y &I 719 81:-
4&
a. Zpand Lw b. Zpand Zz A BI
c. Zrand Zs d. Zsand £x
67. af$AB| CD, EF L CD a1 £ GFD =126° &I,
dl ZEGF &1 919 8I:— , ,
T [ T
a. 140° b. 40°
c. 50° d. 60°
| \1260 | In the figure, AB || CD then value of y will be :-
C F D \
126° b. 540 . 40 ,
c. 90° d. 36° b
IfAB || CD, EF L CD and £ GFD = 126°, Then
the value of ZEGF is:-
A G E B . =
' 0 ' C & D
a.  140° b. 40°
12 0 o o
I ~ 6 I c. 50 d. 60
F .
¢ e ) ]Z 70. sy ¥, AR AB| CD & dumx:y=2:38, @
e] i 5 e}
+y @I {4 8T—
. 90° d  36° Y o
HE(T-9 (TfOT) —=
62}




a. 36° b. 72°
c. 108° d. 180°

In the figure, AB || CD and x:y=2:3, then value
of x+y is :-

0 .
80°
Q
R <40 S
a  60° b, 40°
c.  80° d  100°

In the figure, OP || RS and, then value of / RQS
is :-

\ 0 L
A X B 80
y , Q
c \ D
a. 36° b. 72° R 40° S
C. 108° d 180° a 60° b 40°
N & C. 80° d. 100°
71.  3pfa H, AT OP| RS dI ZPQR &I A i
_ I Q 73.  3Jrpfa A, AT PQ| RS, RS || TU B a2 x:y
BIT—
=2:38l, Al z & A1 gHT—
4 S
a.  60° b.  70° : z ,
c.  50° d 120 T / U
In the figure, OP || RS and, then value of £ PQR
s - a.  36° b. 720
c. 108° d. 180°
R 3 In the figure, If PQ || RS, RS || TU and x:y =
o P 130° 2:3, then value of z is :-
110 /\
Q M P X Q
a. 60° b. 70°
. 500 d. 120° = )
| 4 S
. zZ
72.  anpfa #, AT OP|| RS & @ ZLRQS &1 a4 i :
_ T U
BIIT:
HET-9 (TfoTd) ==
{63}




a. 36° b. 72°
c. 108° d. 180°
74. e @& A7 Son &1 AT gar 8-
a. 100° b. 180°
c. 360° d. 90°
Sum of all angles of triangle is :-
a.  100° b.  180° 80.
c. 360° d. 90°
75. U S & SV $T AU 5:3: 72|
a BIT SV &T 79 SHIM—
a. 36° b. 60°
c. &4° d. 12°
The angles of a triangle are in the ratio 5 : 3: 7.
Then smallest angle of triangle will be :-
a. 36° b. 60°
c. 84° d. 12°
76. Ud st & <1 BT 60° IR 70°0 | FBrger
P dRR DT BT A9 BI9:-
a. 50° b. 60°
c. 80° d. 130°
The two angles of a triangle are 60° and 70°. g1,
Then the third angle of triangle will be :-
a. 50° b. 60°
c. 80° d. 130°
77. & BS & SO BT U 3:10:5 2|
A9 §3 3R g9 BIT BV HT aR BIT:-
a. 70° b. 80°
c. 50° d. 30°
The angles of a triangle are in the ratio 3: 10 : 5.
Then difference of greatest angle and smallest
angle of triangle will be :-
a. 70° b. 80°
c. 50° d. 30° 82.
78. Ud S & Y SIVT &I 91U 3= &I HIvI
P ANHA & IRIER Bl 9l B9 & 999 d9
PIV BT ATF BIT:-
a. 100°
b.  90°
c. 60°
d.  FeiRa 78l far S qoar
If the measure of one angle of a triangle is 83.
equal to the sum of the other two angles, then
the measure of the largest angle of the triangle
will be:-
a. 100°
b.  90°
c. 60°
d.  cannot be determined.
79.  Udh G4Ig S & U@ HIT ST A BidT
3. 84.
HE(T-9 (TfOT)

a. 70° b. 60°

c. 90° d. 180°

The measure of each angle of an equilateral
triangle is:-

a. 70° b. 60°

c. 90° d. 180°

U qAfgarg Bs & e $IvT ST 419 3
Q1 PIvil & INTha & S}IE @1, a By
$ W9 BIC HIVT T 91 BHT—

a.  90°
b.  60°
c.  45°
d. fuiRa 78 fear o Faar

If the measure of one angle of a isosceles is
equal to the sum of the other two angles, then
the measure of the smallest angle of the triangle
will be:-

a. 90°
b.  60°
c. 45°

d cannot be determined.

afe fedl guaIvr Bys &1 & YA div
36° B, A QURT <A HIVT BIIN:-

a. 90°
b. 36°
C. 54°

d. fuiRa 78 fear o daar

If one acute angle of a right triangle is 36°, then
the other acute angle will be:-

a. 90°
b. 36°
c. 54°

d. cannot be determined .

e e 7 &9 9 $49 fHaa T ST 8l

dJbd B ?
a. 1 b. 2
c. 3 d. ST 9 P T8

What is the minimum number of acute angles
a triangle can have?

a. 1 b. 2

c. 3 d. None of these
& e § afte 9 &t fads =17 s
8 gad 8 ?

a. 1 b. 2

c. 3 d STH ¥ &3 T2

What is the maximum number of acute angles
a triangle can have?

a. 1 b. 2

c. 3 d. None of these

e e A aftre 9 e feaa awalr




8 ddd € ?
a. 1 b. 2
c. 3 d. sﬁﬁﬁﬂﬁgﬂ'&ﬁ

What is the maximum number of right angles
a triangle can have?

a. 1 b. 2
c. 3 d. None of these
85. s g ¥ e 4@ ot fead sifda
PHIT B Hbd & ?
a. 1 b. 2
c. 3 d. T 9 PIg T8I
What is the maximum number of obtuse angles
a triangle can have?
a. 1 b. 2
c. 3 d. None of these
86. afe Al s &1 uab SIvT =1 3T PIon
® AT & §]IE} El, dl 98 B @ -
a. UH AADIT %Ilj\_rl
b. Tdh HH gd g %I"jGI
c. TUh rqam' U %Ilj\_ri.
d. Tdh I B DI %I'ﬂ\_rl
If one angle of a triangle is equal to the sum of
the other two angles, then the triangle is:-
a.  aright triangle.
b.  anisosceles triangle
c.  an acute triangle
d.  an obtuse triangle
87. Afe fedl Ba &1 9AS ST 3 T HIvI
@ AT 9 $A &I, dl 98 By 8-
a. TUdh Q‘IHEFQ U %Ilei
b. U FHigd g %I‘jGI
c. Uh TQ_T-IEﬁ U %PjGL
d. Udh 3 B PHT0 %Iﬂ\_rl
If each angle of a triangle is less than to the sum
of the other two angles, then the triangle is:-
a.  aright triangle.
b.  anisosceles triangle
c.  an acute triangle
d.  an obtuse triangle
88. afe fdl Brgst &1 ¢ PIvT 39 <1 Bivn
@ IIT 9§ doT 8l dl 98 B © -
a. TUdh AHDIO %lqjﬂ
b. TUdh 4 g4 g %Iﬁ\_rl
c. TP YADIV Bl
d. Udh 3 hHDIT %Iﬂ\_rl
If one angle of a triangle is greater than to the
HE(T-9 (TfOT)

89.

90.

91.

sum of the other two angles, then the triangle is :-

a.  aright triangle.

b.  anisosceles triangle
c.  an acute triangle

d.  an obtuse triangle

arpfa H, afe Y@ PQ 3R RS fdg T w
39 YeR ufaess adl &, f& 2 PRT = 40°
ZRPT =95° 3k L/ TSQ =75° %, d ZSQT
STd &1 |19 BIIT:-

a. 75° b. 40°
c. 45° d. 60°
In figure, if lines PQ and RS intersect at point

T such that £ PRT =40°, ZRPT =95° and £
TSQ = 75°, then the value of £ SQT will be:-

a. 75° b. 40°
c. 45° d 60°

I e Brger a1 b o1 918 oy, dl
9 SR 991 dfRshplv Il Iid: APrE

(faadia) @ion & ......... P 9xTEX BIdT @ |
a. AN b. =R

c.  TUFHA d.  YNTHd

If one side of a triangle is produced, then the
exterior angle so formed is equal to the ..........
of the two interior opposite angles.

a. Sum b. Difference

c. Product d. Quotient

anpfa #, afs PQR T e 2, at y &1
A BIT:-




P
60° y |

Q R S

a. 50 b 110°

c.  60° d  100°

In the figure, if PQR is a triangle, then the

value of x will be:-

A
X
150°
X 1
B C D
a. 50° b. 75°
c. 30° d. 180°

value OfYPWi“ be:- 94, afy fod Brger & AT gl & v &
feom A 9o WY, A1 39 YeR 91 ) 91"
5 SO &I AT ghaT ?:-
a. 180° b. 360°
60° y c.  540° d. 720°
Q R S If all the three sides of a triangle are produced
5 in the same direction, then the sum of all the
a. 50 b. 110 exterior angles thus formed is:-
C. 60° d. 100° a. 180° b. 360°
92. agpfa A, afs PQRU® Brgwr 2, al x &1 c.  540° d. 720
IGESRIE 95. Y& FAYS $T U q1&1 HIVT T A9 105° @
X 3R 3P < FART T BT TR F |
402 9 4 UAD GHH BIOT BT 41 2:-
0 0
a 3% b 2%
X 120° 1o
. c. 75° d. 525
Q R S : o2 :
An exterior angle of a triangle is 105° and its
a.  40° b. 80° two interior opposite angles are equal. Each of
c. 120° d. 60° these equal angles is:-
In the figure, if PQR is a triangle, then the a 37L0 b 7 10
value of x will be:- ' 2 ' 2
P c. 75° d. 52 %
400 96. afe fedl st &1 tab BivT 130° 2, Al 3
gl B ® GAGHATSTS & §1F BT HIVT BIM:-
120° a. 50° b. 65°
o X 3 c. 145° d.  155°
If one of the angles of a triangle is 130°, then
a. 40° b. 80° the angle between the bisector of the other two
c. 120° d. 60° angles will be :-
93. ampfa A Afy ABC ys fryet &, af x &1 a4 a. 30° b 657
c. 145° d. 155°
BII:-
A
Very Short Answer Questions
X (arfar org S yw=)
150° 1 Wﬁqi] ai ag 3Q|
B X C D Define angle.
a.  50° b.  75° 2. IS & A1 IATHION BT ANT fa= sIam 27
c. 30° d. 180° What is the sum of the three interior angles of a
In the figure, if PQR is a triangle, then the triangle?
HE(T-9 (TfOTe) —




10.

HET-9 aTfoTe

s & AHT 9187 DI H IRT far Biar 57

What is the sum of the three exterior angles of a
triangle?

JATPHIT H x BT A AT DITOTY |

4x
X

Find the value of x in the figure.

4x
X

] DIV Bl GRATT DI |
Define straight angle.

S BT B R BT |

Define Vertically opposite angle.

Ife Q7 M= BV BT IRT 180°%, Tl SHd
ARG YOIy ... A |

If the sum of two adjacent angles is 180° , then
their noncommon sides form a ...........

FHIOR @1 BT aRATRT IR |
Define parallel lines.

80° BT YR BIVT ST BIFTY |
Find complementary angle of 80°.
100° T THYRE IV ST BT |
Find supplementary angle of 100°.

Short Answer Questions

(org S yw)

amgfa #, afs L PQR= ZPRQE, d Rig #IRTT
f& ZPQS= ZPRTZ|
p

s Q R T

In figure, if ZPQR = ZPRQ, then prove that £ PQS
= / PRT.

S Q R T

i #, af AB||CD R, £ APQ =503k £ PRD
=127°%, A1 x 3R y BT A ST BT |
A p B

50
y

- 127°
c Q R D

In figure, If AB||CD, £ APQ = 50° and
ZPRD =127°, then find the value of x and y.
A P B

50

X 127°
¢ Q R D
I DI BT AT I DIFTY ST U AR BIvT
¥ 320%9 2|

Find the measure of an angle which is 32° less
than its supplement.

¥ETg PQ 3R RS WER fig O W uftress ol
g1 afe ZPOR: ZROQ=5:7%, ar &f &ior
BINEEAINI

Lines PQ and RS intersect each other at point O.
If ZPOR : ZROQ = 5:7, then find all the angles.

ST@%‘#ZWHWWWI




Find the value of z in the figure.

120°

/BA/ C
z

Long Answer Questions

of ZCBE and £ BCD meet at the point BO and
CO respectively meet the point O, then prove that:

4130c=900—% Z/BAC

Multiple Choice Question

(EEESHNURES) (sgfagerdia ye=)
g #ifore &6 %pj’vyr % T BT BT AT 180° l.a 2.b 3d 4.a 5b 6.b 7.a
BT 2 | 8a 9b 10.d 11b 12b 13b 14a
. . 15.c 16.b 172  18d 19.c 20d 2la
0
Prove tl-lat the sum of all angle of a triangle is 180°. e 23b da 25¢  26e  27d 28
PRI A, POQUS Xl 2| fdxT ORNII POR @ 294 30c  3la 32d 33b  34d  35¢
2| fovo OPRIR OR @ I § OS U 39 favor 81 36.c 37.d 38b  39.d 40b 41b 42c
1
ﬁ'@ Eﬁ-ﬁﬂ-q: / ROS = 7(4()08* LPOS). 43.a 44D 45.a 46.b 47.¢ 48.c 49.b
50.c Sl.c 52.a 53¢ 54b 55¢ 56b
TR 57.a 58d 59b 60d 6lb 62.c 63D
64.a 65b 66.d 67b 68a 69b 70d
S 7la 72.a 73b 74b 75a T76.a Tla
78b 79.b 80.c 8l.c 82b 83c 84a
85.a 86.a 87.c 88d 89.d 90.a 91b
: 1 : 92.b 93.b 94b 95d 96d
P 0 Q
In figure, POQ is a line. Ray OR is perpendicular to Very Short Answer Questions
line PO. OS is another ray between the rays OP and (erfa org S yw)
1
OR. Prove thtat ZROS = 5 (£ Q0OS — ZPOS). )
2 (£Q ) 1. ®BI— Th 3R S <1 fbeol & aoiclt & qor
TR U FAM fd=g A8 FRAl 8, DIV HEARN © |
ST fRO BT BT B YOY el AT 7 SR
S A fdg B 9wt S B
B Fbd— ZAOB
t _| t
P 0 Q
3MTepfer # Brgst ABC @1 qSiisil AB 3R AC @I . 0O |
LN A
HHZ: B3R D % qgr™n a1 8| afe L CBE (\_/
3R £BCD & HHfg¥eid $HA: BO 3R CO
. Ry & R _ Angle:— A shape formed by two rays that shares
ﬁg 0w 1%\ AU e a common end point is called an angle. Both the
ZBOC =90° ) ZBACRE| rays are called the sides of the angle and the com-
mon point is called the vertex.
B Symbol:— ZAOB
ﬁ Angle
In figure, sides AB and AC of a triangle ABC are Sidw A
produced to E and D respectiviely. If the bisectors
HE(T-9 (TfOT) —=

L0



R[St & 1 ofd: BV HT AN 180° BT 1 7. ¥R NI
Sum of interior angles of a triangle is 180°. Straight line.
IS @ A TEA PION BN AT 360° EA TN g gwior J@r— T GHAer § < @l B aHioR
Sum of the three exterior angles of a triangle is 360°. el WTdT & afe 9 e feuret ¥ oFd vy 9§
4x+x=180° [NRa® 7 Y O W Ufrese Fal HRal 2 | AT &, Qe
= 5x = 180° XERl & 91 @ g N I B 21 3 afow
:>le850 =136° Ans 3R SeafeR <Ml 8 9ad T |
4x +x =180° [Linear Pair] A B QT S
= 5x = 180° PQ | RS
S x =18 = 36° Ans + 3
ST BIoT BT A9 180° BN, SW FY] HIVT bl AB | CD
2| o9 ST fhvol U Oxel X1 & WU H fewd Py IR
g AT g9 B | o
180° Parallel lines:— Two lines in the same plane that
are at equal distance from each other and never
]’3 ’O A‘ meet. Also the distance between the two lines is
also the same. They can be both horizontal and
Straight Angle:— An angle whose measure is vertical.
equal to 180°, is called Straight angle. ie two rays A B S
appears as a straight line. : s QT T
180° PQ | RS
| | | ¢ D
B 0 A AB| CD
o : Pg IR
HuffrgE $vr— S99 31 @i th g Bl
Aleds (M.c” %\'.Fﬁ AL DT \_yﬁ 9. 80° @ GR& BT = 90° — 80° = 10° Ans
HIVT I &, So WIFHE IV e © | T
BN BT TP I TG Th TR P qUER BT | Complementary angle of 80" = 90" — 80" = 10" Ans
10.  100° &T X BT = 180° — 100° = 80°
D= za0c; 2BOD ik
A Supplementary angle of 100°= 180° — 100° = 80° Ans
ZAOD; ZBOC Tl
iR Brom &1
T 3 Short Answer Questions
(org, S uw)
C B
1. P
Vertically opposite Angle:— When two lines
intersect each other, then the opposite angles,
formed due to intersection are called vertically op-
posite angles. A pair of vertically opposite angles
are always equal to each other. S Q R T
- fear '
e ZAOC; ZBOD And ZPQR = ZPRQ
ZAOD; Z/BOC are = 180"~ ZPQS = 186"~ ZPRT [XRae FH]
two pairs of vertically by nyy
opposite angles, =7 <PQ8 =7 ZPRT
C B - ZPQS = /PRT wifud
HE(T-9 (TfOT) —




s Q R T

Given

Z/PQR = Z/PRQ

- 180’ — ZPQS = 186 — ZPRT [Linear Pair]
= #/PQS = #/PRT

= ZPQS = ZPRT Hence Proved.

A P B
50

X 127°
¢ Q R i
fear am 8— AB | CD
ZAPQ = 50°3IR ZPRD = 127°
"+ ZPQR = ZAPQ (T&HidR 3fd: HIvN)
X =50° Ans
3, ZAPR = /PRD (T&iaR 3fa: &I
=50°+y=127°
=y =127"—50" =177

S y=77" Ans
A p B
50
y
" 127°
c Q R D

Given:— AB | CD

ZAPQ = 50°and ZPRD = 127°

.+ ZPQR = ZAPQ (Alternate interior angles)
= x = 50° Ans

Now, ZAPR = ZPRD (Alternate interior angles)
= 50°+y=127°

=y =127"—50°=77°

S y=77 Ans

AT &5 ST DIV x 7 |

EESIGRINS

x +32° = (180° —x)

= x+x=180°—32°

HET-9 aTfoTe

= 2x = 148°

=X = 1428 = 74° Ans

Let required angle be x
According to question,

x+32° = (180° — x)
=x+x=180"—32°

= 2x = 148°
=X = 14;8 = 74° Ans
P S
5X )
Tx
R Q

feam T 88— ZPOR : ZROQ = 5:7

.. ZPOR = 5x

MR ZROQ = 7x

"+ ZPOR + ZROQ = 180° [¥Rg& J]
= 5x+7x = 180°

= 12x = 180°
_ 180" _ .

- ZPOR = 5x = 5§ X 15° = 75° [Ni¥gg o7
. ZROQ = ZPOS = 105°

P S
5x O
7x
R Q
Given ZPOR : ZROQ = 5:7
. ZPOR = 5x

and ZROQ = 7x
- ZPOR + ZROQ = 180° [Linear Pair]
= 5x +7x = 180°

= 12x = 180°
_180° _ |
=X= "5 =15

o ZPOR = 5x = 5 X 15° = 75" [Vertically
opposite angles]
. ZROQ = ZPOS = 105°




120°
/‘34/ C
z

ZA+130°=180° = ZA =180° —130° = 50°

ZC+120°=180° = 2C = 180° —120° = 60°
[Mas 7]

o Bt & A SN @1 AT 180° BT B

S LA+ ZB+ ZC = 180°

= 50"+ «£B+60° = 180°

= ZB+110° = 180°

= ZB=180"—110" = 70°

3@, z+ 2B =180 [Rad ]

=z+70°=180°

z=180°—70° = 110° Ans

120°

/‘34/ C
z

ZA+130° =180° = ZA = 180° — 130° = 50°
ZC+120°=180" = ZC = 180" — 120° = 60°
[Linear Pair|

By angle sum property of triangle

SZLA+ ZB+ ZC = 180°

= 50°+ 2B+ 60° = 180°

= ZB+110° = 180°

= ZB=180"—110° = 70°

Also, z+ /B =180°

=z+70° =180°
z=180"—70° = 110" Ans

[Linear Pair]

HET-9 aTfoTe

Long Answer Questions

(el ST geA)

f&am a8~ ABC U@ 3ol © |
RIg 1 88— ZA+ 2B+ 2C = 180°
T fIg A9 Blax BC & IR U ¥@T PQ

i,
THTOT:—
<2=724 [TehiaR 3fch: BIoT]
L3 =15
-+ ZPAQ = 180°

= /4+ 21+ 25=180°
= /2+/1+23=180°
(L4 = 223IR L5 = /3)
= /1+/2+/3=180°
ZA+ /B4 /C=180° HMUd

Given:— AABC is a triangle.
To Prove that:— ZA+ ZB+ 2C = 180°

Construction:— Draw PQ (through A) Parallel to BC
Proof:—

L2 =24 [Alternate interior angles]
3 =/5
- ZPAQ = 180°
= 4+ 21+ £5=180°
= /2+/1+/3=180°
(s Z4 =22 And £5 = £3)
= /1+22+/3=180°
ZA+ 2B+ ZC =180 Hence Proved

[Straight angle]




HET-9 aTfoTe

t _l t
P o Q

f&ar T 8~ POQ U® &M & T OR L PQ
. ZROP = ZROQ = 90°

ZROP = ZROQ

- /POS + ZROS = ZQOS — ZROS

= /ROS + ZROS = 2QOS — ZPOS

- 2/ROS = £QO0S — ZPOS

ZROS = 5(£QOS — 2P0OS) Wit

+R

t _| t

P 0 Q
Given:— POQ is a straight line and OR L PQ
.. ZROP = ZROQ = 90°

ZROP = ZROQ

= /POS + ZROS = ZQ0OS — ZROS

= ZROS + ZROS = ZQ0OS — ZPOS

= 2/ROS = £QO0S — ZPOS

. ZROS = %(AQOS - APOS) Hence Proved

f&am A ® — Sy §, ZCBE @ ZBCD @I
FAfGHISTS HHEE BO 3R CO fag '0' R fAerd 2|
ABOC ¥

Z/BOC + Z0OBC + Z0OCB = 180°

~ /BOC + %ACBE + %ABCD = 180°

[. BOSR CO, ZCBE 3R Z/BCD &I 9GS
2]

ZOBE = ZOBC = %LCBE

ZOCB = 2OCD = %ABCD]

ZBOC + %(ACBE + /BCD) = 180°
~ /BOC + %(180" — ZABC +180° — ZACB) = 180°
- /BOC + %[360" —(£ABC + ZACB)] = 180°

~ /BOC + %[360" —(180° — Z/BAC)] = 180°

[BrIST & IO BT AT IO 1]
~ /BOC+ %[360° —180° + /BAC] = 180°

~ /BOC + %[180" + /BAC] = 180°

— /BOC +90° + %LBAC =180°
~ ZBOC = 180" = 90° 5 ZBAC

. /BOC = 90° —%ABAC eI

Given:— In figure shown, bisectors of
ZCBE and ZBCD meeting at a Point 'O".

. ZOBC = ZOBE = %LCBE

and ZOCB = ZOCD = %ABCD

In ABOC
ZBOC + Z0OBC + Z0OCB = 180°

~ /BOC + %ACBE + %ABCD = 180°

— /BOC + %(ACBE +/BCD) = 180°

- /BOC + %(180° — Z/ABC + 180° — ZACB) = 180°

- /BOC + 15[360° —(£ABC + ZACB)] = 180°

~ ZBOC +5[360° — (180° = ZBAC)] = 180°
[By angle Sum Property of triangle]

= /BOC + %[180" + /BAC] = 180°

~ /BOC +90° + %LBAC =180°

~ /BOC = 180° — 90° — 174BAC
. ZBOC =90° — 1EABAC Hence Proved






